1 (i)(a + b = (a + b¥a+ b) = a® + 2ab+ b* = (a = b)* + dab
(if) (@ + b)* — 2ab = a? + b*
(i) (@ + b)* = (a* + b*) = 2ab

2ia-bl=(a—bNa-b)=a*-2ab+b*=(a +b)* -
(if) (a = b)* + 2ab=a?+ b*
(iii) (& — #)° — (& + %) = 2ab

3. (1) (a + B)* — (a— b)* = 4ab
(if) (a — )° — (& + &) = —dab
(i) (o + 82 + (o — B = 2(af £ BY)

4.()a*-b* = (a—b)a+b)

(ii) (@ —b) = {:::4-37}

(i) (a+ b) = (1)

(iv)a*— b¥= {a* + Ba+ ba — b)

= (a2 + B?)(a? —
={a— b}(ﬂ’+n*& +ab® + b}

B.(iJ{a+b+c)=a’+ b +c*+ 2{ab + bc + ca)
(i) e + b2+ c? = (a+b+c) —2ab+ be+ ca)
[iil]nz+&1+c1—ab—hc—cn=§[(a—b}lz+|{&—c}z+
(£ =a)*]



